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— HIGHER TIER .-

} Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.<
Questions ONE to NINE Choose one response 1 - 4 for each of the parts A-D

QUESTION ONE 1 2 3 4
A  ahypothesis O O O O
B asurvey O O O ©
C  anindependent variable 0 0 O ©
\ D an observation © o o o
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A LDLs O O O O
B polyunsaturated fats O 0o o0 O
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D sugar O 0 O O
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Questions ONE to NINE Choose one response 1 -4 for each of the parts A-D

FOUNDATION TIER

} Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.<

( QUESTION ONE 1 2 3 4
A receptors that allow the player to hear the spectators O O O O
B receptors that allow the player to see the basket O O O O : .
C receptors that allow the player to detect smells in arena 0O o0 O O |
___D receptors that allow the player to feel the ball O O O O |-
QUESTION TWO 1.2 3 4
A cannabis O O 0O O
B carbon monoxide O o O 0
C nicotine O O O O©
D thalidomide o o o O |
QUESTION THREE 1 2 3 4
‘A better than o o o |
B less than .
C more than
:.D the same as @)
QUESTION FOUR 1 2 3 4
A % © 0 O O |-
B 95 O 0o 0 © ‘ .
Cc 1400 O O O O |-
|,_D 6000 O 0 0O O ‘ .
- QUESTION FIVE 1 2 3 4
A Mmuscle O O O O
B neurone O O O O
C pain receptor O 0 O O
,_D spinal cord o o o O |
! QUESTION SIX 1.2 3 4
A ahypothesis O 0 O O
B asurvey O O O O
C anindependent variable O O O O
‘D an observation © O O o
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